

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOUNTY PAVING ASSOC LLC		(3) SCHIFANO CONSTRUCTION CORP	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt Set:		Cat Alt Member:			
0001	151006M	1.000	35,000.00000	35,000.00	42,691.00000	42,691.00	37,753.00000	37,753.00
_	RMANCE BOND AND NT BOND	DOLL						
0004	153003P	(1)	5,000.00000	5,000.00	6,000.00000	6,000.00	1,500.00000	1,500.00
PROGRI	ESS SCHEDULE	LS						
0005	153006P	6.000	500.00000	3,000.00	665.00000	3,990.00	100.00000	600.00
PROGRI	ESS SCHEDULE UPD	DATE U						
0006	154003P	(1)	147,888.20000	147,888.20	404,024.00000	404,024.00	250,000.00000	250,000.00
MOBILIZ	ZATION	LS						
0009	157004M	1.000	14,400.00000	14,400.00	4,775.00000	4,775.00	7,500.00000	7,500.00
CONSTR	RUCTION LAYOUT	DOLL						



# Tabulation of Bids

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

	Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOUNTY PAVING ASSOC LLC		(3) SCHIFANO CONSTRUCTION CORP	
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:	
0012	159003M	40.000	0.01000	0.40	0.01000	0.40	85.00000	3,400.00
BREAKA	WAY BARRICADE	U						
0013	159006M	250.000	0.01000	2.50	0.01000	2.50	1.00000	250.00
DRUM		U						
0014	159009M	300.000	0.01000	3.00	0.01000	3.00	12.50000	3,750.00
TRAFFIC	CONE	U						
0015	159012M	2,604.000	4.00000	10,416.00	12.00000	31,248.00	1.00000	2,604.00
CONSTR	RUCTION SIGNS	SF						
0016	159015M	2.000	500.00000	1,000.00	1,600.00000	3,200.00	850.00000	1,700.00
CONSTR SIGN, 4'	RUCTION IDENTIFICAT X 8'	TION U						



Tabulation of Bids

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	lo / Item ID Description		(1) STAVOLA C CO.,		(2) INTERCOL ASSO			(3) SCHIFANO CONSTRUCTION CORP	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:		
0017	159027M	4.000	1,000.00000	4,000.00	1,655.00000	6,620.00	500.00000	2,000.00	
FLASHIN	NG ARROW BOARD,	4' X 8' U							
0018	159030M	4.000	1,500.00000	6,000.00	3,425.00000	13,700.00	9,200.00000	36,800.00	
PORTAE SIGN	BLE VARIABLE MES	SAGE U							
0019	159108M	4.000	2,500.00000	10,000.00	13,250.00000	53,000.00	1,500.00000	6,000.00	
	C CONTROL TRUCK ED CRASH CUSHIOI	_							
0020	160004M	1.000	38,100.00000	38,100.00	38,100.00000	38,100.00	38,100.00000	38,100.00	
FUEL PF	RICE ADJUSTMENT	DOLL							
0021	160007M	1.000	137,300.00000	137,300.00	137,300.00000	137,300.00	137,300.00000	137,300.00	
ASPHAL	T PRICE ADJUSTME	ENT DOLL							



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOU ASSO			HIFANO CTION CORP
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt Set: Cat Alt Member:			It Member:		
0022	161003P	(1)	10,000.00000	10,000.00	8,000.00000	8,000.00	500.00000	500.00
FINAL CL	_EANUP	LS						
0023	201003P	(1)	10,000.00000	10,000.00	8,000.00000	8,000.00	7,500.00000	7,500.00
CLEARIN	IG SITE	LS						
0024	302051P	70.000	32.00000	2,240.00	45.00000	3,150.00	45.00000	3,150.00
	GRADED AGGREGAT DURSE, VARIABLE ESS	E CY						
0025	401009P	332,911.000	3.05000	1,015,378.55	3.35000	1,115,251.85	3.20000	1,065,315.20
HMA MIL	LING, 3" OR LESS	SY						
0026	401012P	27,476.000	4.00000	109,904.00	4.00000	109,904.00	3.50000	96,166.00
HMA MIL 6"	LING, MORE THAN 3	"TO SY						



Tabulation of Bids

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOL ASSO			HIFANO CTION CORP
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt Set:		t Set:	Cat Alt Member:		
0027	401021M	1,800.000	0.01000	18.00	65.00000	117,000.00	74.00000	133,200.00
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						
0028	401027M	200,000.000	0.35000	70,000.00	0.30000	60,000.00	0.34000	68,000.00
POLYME	RIZED JOINT ADHE	SIVE LF						
0029	401030M	39,800.000	0.01000	398.00	0.25000	9,950.00	0.01000	398.00
TACK CO	DAT	GAL						
0030	401054M	14,450.000	75.00000	1,083,750.00	73.00000	1,054,850.00	75.00000	1,083,750.00
_	ASPHALT 12.5 M 64 E COURSE	Т						
0031	401078M	3,500.000	82.00000	287,000.00	81.00000	283,500.00	90.00000	315,000.00
_	( ASPHALT 12.5 M 76 EDIATE COURSE	5 T						



# Tabulation of Bids

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOU ASSO		(3) SCHIFANO CONSTRUCTION CORP	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0032	401108M	200.000	175.00000	35,000.00	85.00000	17,000.00	95.00000	19,000.00
CORE S ASPHAL	AMPLES, HOT MIX .T	U						
0033	404006M	37,100.000	100.00000	3,710,000.00	106.50000	3,951,150.00	113.35000	4,205,285.00
	MATRIX ASPHALT 1 CE COURSE	2.5 MM T						
0034	453006M	50.000	250.00000	12,500.00	225.00000	11,250.00	300.00000	15,000.00
_	EPTH CONCRETE ENT REPAIR, HMA	SY						
0035	602210M	9.000	325.00000	2,925.00	260.00000	2,340.00	398.00000	3,582.00
BICYCLI	E SAFE GRATE	U						
0036	602213M	2.000	345.00000	690.00	260.00000	520.00	375.00000	750.00
CURB P	IECE	U						



Page: 7

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	No / Item ID Description		(1) STAVOLA C CO.,			(2) INTERCOUNTY PAVING ASSOC LLC (3) SCHIFAN CONSTRUCTION		
Alt Se	et / Alt Member Qua	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:	
0037	602214M	64.000	211.00000	13,504.00	195.00000	12,480.00	375.00000	24,000.00
INLET F	ACE PLATE	U						
0038	606012P	83.000	90.00000	7,470.00	172.00000	14,276.00	165.00000	13,695.00
CONCR	ETE SIDEWALK, 4" THICK	SY						
0039	606084P	24.000	240.00000	5,760.00	234.00000	5,616.00	225.00000	5,400.00
DETECT	TABLE WARNING SURFAC	E SY						
0040	607018P	172.000	64.00000	11,008.00	79.00000	13,588.00	75.00000	12,900.00
9" X 16" CURB	CONCRETE VERTICAL	LF						
0041	607090P	20.000	105.00000	2,100.00	275.00000	5,500.00	74.50000	1,490.00
CONCR	ETE TRANSITION SECTIO	N LF						



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA C CO.,		ING (2) INTERCOUNTY PAVING ASSOC LLC		(3) SCHIFANO CONSTRUCTION CORP	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:	
0042	610003M	240,000.000	0.28000	67,200.00	0.28000	67,200.00	0.28000	67,200.00
TRAFFIC	STRIPES, 4"	LF						
0043	610006M	1,930.000	0.42000	810.60	0.33000	636.90	0.33000	636.90
TRAFFIC	STRIPES, 6"	LF						
0044	610007M	9,090.000	0.57000	5,181.30	0.45000	4,090.50	0.44000	3,999.60
TRAFFIC	STRIPES, 8"	LF						
0045	610009M	7,900.000	2.65000	20,935.00	4.30000	33,970.00	4.27000	33,733.00
TRAFFIC	MARKINGS	SF						
0046	610012M	1,163.000	23.70000	27,563.10	23.15000	26,923.45	23.07000	26,830.41
RPM, MO LENS	ONO-DIRECTIONAL, V	WHITE U						



Page: 9

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOUNTY PAVING ASSOC LLC		(3) SCHIFANO CONSTRUCTION CORP	
Alt Set /	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0047	610018M	774.000	23.70000	18,343.80	23.15000	17,918.10	23.07000	17,856.18
RPM, MON AMBER LE	NO-DIRECTIONAL, ENS	U						
0048	610024M	1,937.000	3.50000	6,779.50	3.00000	5,811.00	3.00000	5,811.00
REMOVAL	OF RPM	U						
0049	610033M	24,000.000	1.00000	24,000.00	0.28000	6,720.00	0.50000	12,000.00
RUMBLE S	STRIP	LF						
0050	652432M	4.000	370.00000	1,480.00	950.00000	3,800.00	1,000.00000	4,000.00
	ANHOLE, SANITAR' JSING EXISTING	Y U						
0051	701103M	1.000	5,550.00000	5,550.00	2,750.00000	2,750.00	2,750.00000	2,750.00
EXTENSIO	ON OF JUNCTION B	OX U						



**Page:** 10

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

Joine	Threat bescription. IN 2021 NOW CN 037 TO NOAD TO NI 207								
	Line No / Item ID Item Description			VOLA CONTRACTING (2) INTERCOUNTY PAVING ASSOC LLC		(3) SCHIFANO CONSTRUCTION CORP			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY				Cat Alt	: Set:	Cat A	It Member:		
0052	702042M	13.000	600.00000	7,800.00	600.00000	7,800.00	599.50000	7,793.50	
PUSH B	UTTON	U							
0053	702045M	10.000	6,300.00000	63,000.00	6,182.00000	61,820.00	6,490.00000	64,900.00	
IMAGE [	DETECTOR	U							
0057	159126M	80,000.000	0.16000	12,800.00	0.23000	18,400.00	0.23000	18,400.00	
TEMPOI 4"	RARY TRAFFIC STRIP	ES, LF							
C4	en Tetala:			Ф7 062 400 0E		Ф7 00E 040 70		¢7 000 040 70	

**Section Totals:** \$7,063,198.95 \$7,805,819.70 \$7,869,248.79



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Line No / Item ID Item Description		(1) STAVOLA CO CO., IN				\ <i>,</i>	(3) SCHIFANO CONSTRUCTION CORP	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRUCT			ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0007	155006M	1.000	10,000.00000	10,000.00	16,550.00000	16,550.00	18,500.00000	18,500.00
FIELD O	FFICE TYPE B SET U	JP U						
8000	155024M	14.000	2,750.00000	38,500.00	3,865.00000	54,110.00	1,500.00000	21,000.00
FIELD O MAINTEI	FFICE TYPE B NANCE	MO						
Secti	on Totals:			\$48,500.00		\$70,660.00		\$39,500.00



Tabulation of Bids

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	William Description. The 2021 Now of the North Fe No 201									
Line No / Item ID Item Description			CONTRACTING (2) INTERCOUNTY PAVING ASSOC LLC		·	(3) SCHIFANO CONSTRUCTION CORP				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTIO	<b>N</b> : 0003	NON-PARTICII	PATING (ROAD)	WAY) Cat Al	t Set:	Cat A	Cat Alt Member:			
0002	152004P	1.000	10,000.00000	10,000.00	8,000.00000	8,000.00	8,000.00000	8,000.00		
	'S AND CONTRACTO CTIVE LIABILITY NCE	OR'S DOLL								
0003	152015P	1.000	1.05000	1.05	1.00000	1.00	1.00000	1.00		
POLLUT	ION LIABILITY INSU	IRANCE DOLL								
Secti	on Totals:			\$10,001.05		\$8,001.00		\$8,001.00		



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	tot 2 occinptioni	(1 202 1 1(O))) O1( 0						
	Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOUNTY PAVING ASSOC LLC		(3) SCHIFANO CONSTRUCTION CORP	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0004	EROSION CON	NTROL	Cat Al	Set:	Cat A	It Member:	
0010	158063P	(1)	1,000.00000	1,000.00	1,100.00000	1,100.00	2,500.00000	2,500.00
CONCRE	TE WASHOUT SYST	EM LS						
0011	158072M	2.000	1,000.00000	2,000.00	550.00000	1,100.00	1,500.00000	3,000.00
OIL ONLY TYPE 1	' EMERGENCY SPILL	LKIT, U						
Section	on Totals:			\$3,000.00		\$2,200.00		\$5,500.00

# **Tabulation of Bids**

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

Line No / Item ID Item Description		(1) STAVOLA C CO.,		(2) INTERCOU ASSO			HIFANO CTION CORP
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	US ROUTE 20: 22 STRUCT. N	2 & 206 SB OVE O. 1808-151	R US Cat Alt	Set:	Cat A	It Member:	
0054 507007P	102.000	150.00000	15,300.00	52.15000	5,319.30	50.00000	5,100.00
2 1/2" BY 2 1/2" PREFORM ELASTOMERIC JOINT SEA							
0055 551006M	500.000	100.00000	50,000.00	107.00000	53,500.00	105.00000	52,500.00
REPAIR OF CONCRETE D TYPE B	ECK, SF						
0056 551009M	50.000	200.00000	10,000.00	190.00000	9,500.00	175.00000	8,750.00
REPAIR OF CONCRETE D TYPE C	ECK, SF						
Section Totals:			\$75,300.00		\$68,319.30		\$66,350.00
Contract Totals			\$7,200,000.00		\$7,955,000.00		\$7,988,599.79
Cost Plus Time Totals			\$7,200,000.00		\$7,955,000.00		7,988,599.79



**Page:** 15

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

() indicates item is bid as Lump Sum



**Tabulation of Bids** 

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

	lo / Item ID Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	36,400.00000	36,400.00	36,562.42000	36,562.42	33,579.48000	33,579.48
_	RMANCE BOND AND NT BOND	DOLL						
0004	153003P	(1)	3,465.00000	3,465.00	3,150.00000	3,150.00	3,150.00000	3,150.00
PROGRE	ESS SCHEDULE	LS						
0005	153006P	6.000	520.00000	3,120.00	472.50000	2,835.00	472.50000	2,835.00
PROGRE	ESS SCHEDULE UPD	DATE U						
0006	154003P	(1)	326,653.00000	326,653.00	307,650.00000	307,650.00	636,683.11000	636,683.11
MOBILIZ	ATION	LS						
0009	157004M	1.000	5,000.00000	5,000.00	17,325.00000	17,325.00	4,000.00000	4,000.00
CONSTRUCTION LAYOUT DOLL								



## **Tabulation of Bids**

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0012	159003M	40.000	120.00000	4,800.00	107.61000	4,304.40	115.50000	4,620.00
BREAKA	WAY BARRICADE	U						
0013	159006M	250.000	5.00000	1,250.00	58.04000	14,510.00	0.01000	2.50
DRUM		U						
0014	159009M	300.000	13.00000	3,900.00	15.11000	4,533.00	16.17000	4,851.00
TRAFFIC	CONE	U						
0015	159012M	2,604.000	4.00000	10,416.00	14.51000	37,784.04	20.34000	52,965.36
CONSTR	RUCTION SIGNS	SF						
0016	159015M	2.000	1,500.00000	3,000.00	682.50000	1,365.00	1,464.21000	2,928.42
CONSTR SIGN, 4'	RUCTION IDENTIFICA X 8'	TION U						



of Bids Page: 18

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	lo / Item ID Description		(4) DELLA PELL	O PAVING INC	IG INC (5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0017	159027M	4.000	500.00000	2,000.00	1,695.00000	6,780.00	1.00000	4.00
FLASHIN	NG ARROW BOARD, 4	' X 8' U						
0018	159030M	4.000	6,500.00000	26,000.00	5,085.00000	20,340.00	5,497.80000	21,991.20
PORTAE SIGN	BLE VARIABLE MESSA	AGE U						
0019	159108M	4.000	10,000.00000	40,000.00	18,136.50000	72,546.00	1.00000	4.00
	C CONTROL TRUCK W ED CRASH CUSHION	/ITH U						
0020	160004M	1.000	38,100.00000	38,100.00	38,100.00000	38,100.00	38,100.00000	38,100.00
FUEL PF	RICE ADJUSTMENT	DOLL						
0021	160007M	1.000	137,300.00000	137,300.00	137,300.00000	137,300.00	137,300.00000	137,300.00
ASPHAL	T PRICE ADJUSTMEN	IT DOLL						



**Page:** 19

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	o / Item ID escription		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0022	161003P	(1)	5,000.00000	5,000.00	22,531.76000	22,531.76	1,000.00000	1,000.00
FINAL CLI	EANUP	LS						
0023	201003P	(1)	10,000.00000	10,000.00	50,000.00000	50,000.00	16,000.00000	16,000.00
CLEARING	G SITE	LS						
0024	302051P	70.000	60.00000	4,200.00	54.40000	3,808.00	31.50000	2,205.00
	RADED AGGREGAT URSE, VARIABLE SS	E CY						
0025	401009P	332,911.000	2.70000	898,859.70	2.88000	958,783.68	4.01000	1,334,973.11
HMA MILL	ING, 3" OR LESS	SY						
0026	401012P	27,476.000	2.85000	78,306.60	4.26000	117,047.76	4.12000	113,201.12
HMA MILL 6"	LING, MORE THAN 3	"TO SY						



## **Tabulation of Bids**

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

	o / Item ID escription		(4) DELLA PELL	O PAVING INC	C (5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:	
0027	401021M	1,800.000	46.00000	82,800.00	63.35000	114,030.00	72.50000	130,500.00
HOT MIX REPAIR	ASPHALT PAVEMEN	IT SY						
0028	401027M	200,000.000	0.35000	70,000.00	0.32000	64,000.00	0.50000	100,000.00
POLYME	RIZED JOINT ADHES	SIVE LF						
0029	401030M	39,800.000	0.01000	398.00	3.67000	146,066.00	0.01000	398.00
TACK CO	DAT	GAL						
0030	401054M	14,450.000	80.85000	1,168,282.50	85.44000	1,234,608.00	85.13000	1,230,128.50
	ASPHALT 12.5 M 64 E COURSE	Т						
0031	401078M	3,500.000	89.30000	312,550.00	78.71000	275,485.00	83.35000	291,725.00
_	ASPHALT 12.5 M 76 EDIATE COURSE	Т						



## **Tabulation of Bids**

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Line No / Item Des			(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:	
0032	401108M	200.000	100.00000	20,000.00	105.00000	21,000.00	50.00000	10,000.00
CORE SAM ASPHALT	IPLES, HOT MIX	U						
0033	404006M	37,100.000	113.90000	4,225,690.00	104.84000	3,889,564.00	109.95000	4,079,145.00
STONE MA	TRIX ASPHALT 1: COURSE	2.5 MM T						
0034	453006M	50.000	255.00000	12,750.00	250.95000	12,547.50	397.00000	19,850.00
	TH CONCRETE T REPAIR, HMA	SY						
0035	602210M	9.000	280.00000	2,520.00	327.43000	2,946.87	385.08000	3,465.72
BICYCLE S	AFE GRATE	U						
0036	602213M	2.000	275.00000	550.00	313.18000	626.36	493.12000	986.24
CURB PIEC	CE	U						



# **Tabulation of Bids**

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

•	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set / Alt N	lember Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Alt Set: Cat Alt Me			It Member:	
0037 6022	14M	64.000	240.00000	15,360.00	226.29000	14,482.56	260.42000	16,666.88
INLET FACE PL	ATE	U						
0038 6060	12P	83.000	180.00000	14,940.00	91.81000	7,620.23	163.27000	13,551.41
CONCRETE SII	DEWALK, 4" THICK	SY						
0039 6060	84P	24.000	245.00000	5,880.00	320.35000	7,688.40	222.60000	5,342.40
DETECTABLE \	VARNING SURFACE	SY						
0040 6070	18P	172.000	83.00000	14,276.00	81.81000	14,071.32	75.08000	12,913.76
9" X 16" CONCI CURB	RETE VERTICAL	LF						
0041 6070	90P	20.000	83.00000	1,660.00	182.82000	3,656.40	485.12000	9,702.40
CONCRETE TR	ANSITION SECTION	LF						



## **Tabulation of Bids**

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:	
0042	610003M	240,000.000	0.38000	91,200.00	0.28000	67,200.00	0.28000	67,200.00
TRAFFIC	STRIPES, 4"	LF						
0043	610006M	1,930.000	0.60000	1,158.00	0.42000	810.60	0.42000	810.60
TRAFFIC	STRIPES, 6"	LF						
0044	610007M	9,090.000	0.65000	5,908.50	0.57000	5,181.30	0.57000	5,181.30
TRAFFIC	STRIPES, 8"	LF						
0045	610009M	7,900.000	2.60000	20,540.00	2.63000	20,777.00	2.63000	20,777.00
TRAFFIC	MARKINGS	SF						
0046	610012M	1,163.000	30.00000	34,890.00	23.63000	27,481.69	23.62000	27,470.06
RPM, MO LENS	ONO-DIRECTIONAL, \	WHITE U						



## **Tabulation of Bids**

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0047	610018M	774.000	30.00000	23,220.00	23.63000	18,289.62	23.63000	18,289.62
RPM, MO AMBER L	NO-DIRECTIONAL, ENS	U						
0048	610024M	1,937.000	5.00000	9,685.00	9.66000	18,711.42	6.08000	11,776.96
REMOVA	L OF RPM	U						
0049	610033M	24,000.000	0.40000	9,600.00	0.38000	9,120.00	0.48000	11,520.00
RUMBLE	STRIP	LF						
0050	652432M	4.000	800.00000	3,200.00	427.79000	1,711.16	1,002.21000	4,008.84
	ANHOLE, SANITARY JSING EXISTING	v U						
0051	701103M	1.000	2,900.00000	2,900.00	2,576.06000	2,576.06	2,625.00000	2,625.00
EXTENSION	ON OF JUNCTION BO	OX U						



**Tabulation of Bids** 

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC		
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION	<b>ON:</b> 0001	ROADWAY		Cat Alt	Set:	Cat A	Cat Alt Member:		
0052	702042M	13.000	630.00000	8,190.00	321.80000	4,183.40	572.25000	7,439.25	
PUSH BUTTON U		U							
0053	702045M	10.000	6,470.00000	64,700.00	6,193.99000	61,939.90	5,880.00000	58,800.00	
IMAGE	DETECTOR	U							
0057	159126M	80,000.000	0.25000	20,000.00	0.16000	12,800.00	0.16000	12,800.00	
TEMPO 4"	RARY TRAFFIC ST	RIPES, LF							
Sect	ion Totals:			\$7,880,618.30		\$7,916,430.85		\$8,583,467.24	



**Tabulation of Bids** 

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

Line No / Item ID Item Description		(4) DELLA PELLO	PAVING INC	(5) TARHEEL ENTERPRISES (6) CRISD INC		(6) CRISDEL	GROUP, INC		
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N: 0002	CONSTRUCTI	ON ENGINEERING	G Cat Alt	Set:	Cat A	Cat Alt Member:		
0007	155006M	1.000	21,100.00000	21,100.00	43,210.41000	43,210.41	25,698.57000	25,698.57	
FIELD O	FFICE TYPE B SET	UP U							
8000	155024M	14.000	4,100.00000	57,400.00	4,769.71000	66,775.94	3,675.00000	51,450.00	
FIELD O	FFICE TYPE B NANCE	МО							
Section	on Totals:			\$78,500.00		\$109,986.35		\$77,148.57	



**Tabulation of Bids** 

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES (6)		(6) CRISDEL	(6) CRISDEL GROUP, INC	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0003 NON-PARTIC			PATING (ROADV	VAY) Cat Alt	Set:	Cat A	It Member:		
0002	152004P	1.000	12,000.00000	12,000.00	9,320.91000	9,320.91	17,280.00000	17,280.00	
-	S AND CONTRACTOR TIVE LIABILITY ICE	R'S DOLL							
0003	152015P	1.000	10,090.00000	10,090.00	25,000.00000	25,000.00	19,000.00000	19,000.00	
POLLUTION	ON LIABILITY INSUR	ANCE DOLL							
Section	on Totals:			\$22,090.00		\$34,320.91		\$36,280.00	



**Tabulation of Bids** 

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0010	158063P	(1)	1,600.00000	1,600.00	4,147.50000	4,147.50	1,286.25000	1,286.25
CONCRE	TE WASHOUT SYST	EM LS						
0011	158072M	2.000	150.00000	300.00	1,265.28000	2,530.56	10.00000	20.00
OIL ONLY TYPE 1	' EMERGENCY SPILI	L KIT, U						
Section	on Totals:			\$1,900.00		\$6,678.06		\$1,306.25



# **Tabulation of Bids**

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(4) DELLA PELL	O PAVING INC	(5) TARHEEL ENTERPRISES INC		(6) CRISDEL GROUP, INC	
Alt Set / Alt M	ember Qı	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	005	US ROUTE 202 22 STRUCT. N	2 & 206 SB OVE O. 1808-151	R US Cat Al	t Set:	Cat A	It Member:	
0054 50700	)7P	102.000	54.60000	5,569.20	47.88000	4,883.76	62.97000	6,422.94
2 1/2" BY 2 1/2" I ELASTOMERIC		LF						
0055 55100	06M	500.000	112.70000	56,350.00	59.65000	29,825.00	89.36000	44,680.00
REPAIR OF CON TYPE B	NCRETE DECK,	SF						
0056 55100	09M	50.000	198.50000	9,925.00	538.18000	26,909.00	344.10000	17,205.00
REPAIR OF CON TYPE C	NCRETE DECK,	SF						
Section Tota	ls:			\$71,844.20		\$61,617.76		\$68,307.94
	Contra	ct Totals		\$8,054,952.50		\$8,129,033.93		\$8,766,510.00
	Cost Plus	Time Totals		\$8,054,952.50		\$8,129,033.93		8,766,510.00



**Page:** 30

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

() indicates item is bid as Lump Sum



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) JOSEPI TRUCKING ( DEFINO CONT	CO INC T/A				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0001	151006M	1.000	31,000.00000	31,000.00				
PERFOR PAYMEN	MANCE BOND AND T BOND	DOLL						
0004	153003P	(1)	2,000.00000	2,000.00				
PROGRE	SS SCHEDULE	LS						
0005	153006P	6.000	600.00000	3,600.00				
PROGRE	SS SCHEDULE UPD	DATE U						
0006	154003P	(1)	850,056.80000	850,056.80				
MOBILIZA	ATION	LS						
0009	157004M	1.000	15,000.00000	15,000.00				
CONSTR	UCTION LAYOUT	DOLL						



# **Tabulation of Bids**

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

	Line No / Item ID Item Description		(7) JOSEPI TRUCKING ( DEFINO CONT	CO INC T/A				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0012	159003M	40.000	0.01000	0.40				
BREAKA	WAY BARRICADE	U						
0013	159006M	250.000	0.01000	2.50				
DRUM		U						
0014	159009M	300.000	0.01000	3.00				
TRAFFIC	CONE	U						
0015	159012M	2,604.000	11.00000	28,644.00				
CONSTR	RUCTION SIGNS	SF						
0016	159015M	2.000	1,000.00000	2,000.00				
CONSTRUCTION IDENTIFICATION U SIGN, 4' X 8'								



# **Tabulation of Bids**

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

	lo / Item ID Description		(7) JOSEPI TRUCKING ( DEFINO CONT	CO INC T/A				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0017	159027M	4.000	3,000.00000	12,000.00				
FLASHIN	NG ARROW BOARD,	4' X 8' U						
0018	159030M	4.000	8,000.00000	32,000.00				
PORTAE SIGN	BLE VARIABLE MESS	AGE U						
0019	159108M	4.000	10,000.00000	40,000.00				
	C CONTROL TRUCK \ ED CRASH CUSHION							
0020	160004M	1.000	38,100.00000	38,100.00				
FUEL PF	RICE ADJUSTMENT	DOLL						
0021	160007M	1.000	137,300.00000	137,300.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) JOSEPH TRUCKING ( DEFINO CONT	CO INC T/A				
Alt Set / Alt Me	ember Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Al	Set:	Cat A	It Member:	
0022 16100	3P	(1)	2,000.00000	2,000.00				
FINAL CLEANUP		LS						
0023 20100	3P	(1)	50,000.00000	50,000.00				
CLEARING SITE		LS						
0024 30205	1P	70.000	80.00000	5,600.00				
DENSE-GRADED BASE COURSE, THICKNESS		CY						
0025 40100	9P	332,911.000	2.80000	932,150.80				
HMA MILLING, 3	OR LESS	SY						
0026 40101	2P	27,476.000	3.60000	98,913.60				
HMA MILLING, M 6"	ORE THAN 3" TO	O SY						



**Page:** 35

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) JOSEPI TRUCKING ( DEFINO CON	CO INC T/A				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0027	401021M	1,800.000	75.00000	135,000.00				
HOT MIX REPAIR	ASPHALT PAVEME	NT SY						
0028	401027M	200,000.000	0.30000	60,000.00				
POLYME	RIZED JOINT ADHE	SIVE LF						
0029	401030M	39,800.000	0.01000	398.00				
TACK CO	DAT	GAL						
0030	401054M	14,450.000	92.00000	1,329,400.00				
_	CASPHALT 12.5 M 64 E COURSE	4 T						
0031	401078M	3,500.000	86.00000	301,000.00				
-	ASPHALT 12.5 M 76 EDIATE COURSE	6 T						



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	o / Item ID escription		(7) JOSEPI TRUCKING ( DEFINO CONT	CO INC T/A				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0032	401108M	200.000	130.00000	26,000.00				
CORE SA ASPHALT	MPLES, HOT MIX	U						
0033	404006M	37,100.000	113.25000	4,201,575.00				
	IATRIX ASPHALT 1 E COURSE	2.5 MM T						
0034	453006M	50.000	250.00000	12,500.00				
	PTH CONCRETE NT REPAIR, HMA	SY						
0035	602210M	9.000	450.00000	4,050.00				
BICYCLE SAFE GRATE U								
0036	602213M	2.000	450.00000	900.00				
CURB PIE	ECE	U						



# **Tabulation of Bids**

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	o / Item ID escription		(7) JOSEPI TRUCKING ( DEFINO CON	CO INC T/A				
Alt Set	t / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0037	602214M	64.000	250.00000	16,000.00				
INLET FA	ACE PLATE	U						
0038	606012P	83.000	120.00000	9,960.00				
CONCRE	ETE SIDEWALK, 4" THIC	K SY						
0039	606084P	24.000	200.00000	4,800.00				
DETECT	ABLE WARNING SURFA	ACE SY						
0040	607018P	172.000	70.00000	12,040.00				
9" X 16" ( CURB	CONCRETE VERTICAL	LF						
0041	607090P	20.000	500.00000	10,000.00				
CONCRE	ETE TRANSITION SECTI	ON LF						

# **Tabulation of Bids**

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

	Line No / Item ID Item Description		(7) JOSEPI TRUCKING ( DEFINO CON	CO INC T/A				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROA		ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0042	610003M	240,000.000	0.28000	67,200.00				
TRAFFIC	STRIPES, 4"	LF						
0043	610006M	1,930.000	0.42000	810.60				
TRAFFIC	STRIPES, 6"	LF						
0044	610007M	9,090.000	0.57000	5,181.30				
TRAFFIC	C STRIPES, 8"	LF						
0045	610009M	7,900.000	2.63000	20,777.00				
TRAFFIC	MARKINGS	SF						
0046	610012M	1,163.000	24.00000	27,912.00				
RPM, MO LENS	ONO-DIRECTIONAL, W	VHITE U						



**Tabulation of Bids** 

Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract ID: 14121

Line No / Item ID Item Description		(7) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO						
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0047	610018M	774.000	24.00000	18,576.00				
RPM, MON AMBER LE	O-DIRECTIONAL, NS	U						
0048	610024M	1,937.000	2.00000	3,874.00				
REMOVAL	OF RPM	U						
0049	610033M	24,000.000	0.55000	13,200.00				
RUMBLE S	TRIP	LF						
0050	652432M	4.000	500.00000	2,000.00				
	NHOLE, SANITAR SING EXISTING	Y U						
0051	701103M	1.000	5,500.00000	5,500.00				
EXTENSIO	N OF JUNCTION E	BOX U						



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

Line No / Item ID Item Description		(7) JOSEPI TRUCKING ( DEFINO CONT	CO INC T/A					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0052	702042M	13.000	600.00000	7,800.00				
PUSH B	JTTON	U						
0053	702045M	10.000	6,300.00000	63,000.00				
IMAGE [	DETECTOR	U						
0057	159126M	80,000.000	0.24000	19,200.00				
TEMPORARY TRAFFIC STRIPES, LF 4"								

**Section Totals:** \$8,659,025.00



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

Line No / Item ID Item Description		(7) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRUCTI		ION ENGINEERING Cat Alt S		t Set: Cat Alt Member:			
0007 155006M	1.000	30,000.00000	30,000.00				
FIELD OFFICE TYPE B SET U	JP U						
0008 155024M	14.000	3,000.00000	42,000.00				
FIELD OFFICE TYPE B MAINTENANCE	MO						

Section Totals: \$72,000.00



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

Line No / Item ID Item Description		(7) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	NON-PARTICII	PATING (ROAD)	WAY) Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	8,700.00000	8,700.00				
OWNER'S AND CONTRACT PROTECTIVE LIABILITY INSURANCE	TOR'S DOLL						
0003 152015P	1.000	15,000.00000	15,000.00				
POLLUTION LIABILITY INS	SURANCE DOLL						

Section Totals: \$23,700.00



Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

Line No / Item ID Item Description		(7) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0004	EROSION CON	NTROL	Cat Alt	Set:	Cat A	It Member:	
0010	158063P	(1)	2,500.00000	2,500.00				
CONCRE	TE WASHOUT SYS	TEM LS						
0011	158072M	2.000	2,000.00000	4,000.00				
OIL ONLY TYPE 1	Y EMERGENCY SPI	LL KIT, U						

Section Totals: \$6,500.00

Page: 44

Counties: SOMERSET Contract ID: 14121

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

Contract Description.		5 5	201				
Line No / Item ID Item Description	(7) JOSEPI TRUCKING ( DEFINO CON	CO INC T/A					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 US ROUTE 20 22 STRUCT. N		2 & 206 SB OVE O. 1808-151	R US Cat Alt	Set:	Cat A	It Member:	
0054 507007P	102.000	150.00000	15,300.00				
2 1/2" BY 2 1/2" PREFORME ELASTOMERIC JOINT SEA							
0055 551006M	500.000	80.00000	40,000.00				
REPAIR OF CONCRETE DE TYPE B	ECK, SF						
0056 551009M	50.000	300.00000	15,000.00				
REPAIR OF CONCRETE DE TYPE C	ECK, SF						
Section Totals:			\$70,300.00				
Contract Totals			\$8,831,525.00				
Cost		\$8,831,525.00					



**Page:** 45

Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 District(s): C1

Call Order: 121 Project(s): 100% STATE

Contract Time: 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287

() indicates item is bid as Lump Sum



**Vendor Ranking** 

Page:

Call Order: 121 Contract ID: 14121 Counties: SOMERSET

Letting Date: June 10, 2014 10:00 AM District(s): C1

**Contract Time:** 06/15/15 COMPLETION DATE

Contract Description: RT 202 FROM CR 637 TO ROAD TO RT 287 Project(s): 100% STATE

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	S8162	STAVOLA CONTRACTING CO., INC.	\$7,200,000.00	100.00%
2	15980	INTERCOUNTY PAVING ASSOC LLC	\$7,955,000.00	110.49%
3	S1389	SCHIFANO CONSTRUCTION CORP	\$7,988,599.79	110.95%
4	D2395	DELLA PELLO PAVING INC	\$8,054,952.50	111.87%
5	T0546	TARHEEL ENTERPRISES INC	\$8,129,033.93	112.90%
6	C7444	CRISDEL GROUP, INC	\$8,766,510.00	121.76%
7	D2206	JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	\$8,831,525.00	122.66%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,